## **Townhouse in Kirkop**



Reference No: 240061191-56

Kirkop, South



€535,000

Total Rooms: 7

Bathrooms: 2

Floor Area (m²): **64** 

Bedrooms: 2

### **Townhouse - For Sale - Kirkop**

KIRKOP. Unconverted TOWNHOUSE- Situated in a UCA area near the Parish Church of this quaint old village. Accommodation is in the form of a large welcoming area used as a Dining room, Separate Kitchen, Spare toilet, and a small side yard, and a large double Bedroom. On the first floor, one finds another large double Bedroom and a guest Bathroom. Large front balcony and washroom on the roof

#### **Features**

- Entrance Hall
- ✓ Water Utility
- Partially Furnished
- Roof Terrace

- Perlato Floor
- Electricity Utility
- Back Yard

#### Rooms

- Kitchen: 3 x 2.16 m (6.48 m2)
- Sitting: 3.36 x 2.78 m (9.34 m2)
- Double Bedroom: 5.78 x 3.31 m (19.13 m2)
- Double Bedroom: 5.78 x 3.31 m (19.13 m2)
- Laundry: 5.02 x 3.3 m (16.57 m2)
- Hallway: 4.6 x 3.45 m (15.87 m2)
- Landing: 3.45 x 1.56 m (5.38 m2)
- Bathroom: 3.2 x 2.15 m (6.88 m2)
- Guest Toilet: 1.3 x 0.8 m (1.04 m2)
- Open Space : 2.2 x 1.1 m (2.42 m2)

# **Gallery**





Jayden Lautier RE/MAX Superior - Fgura

M: 77775176

E: jayden@remax.com.mt

T: 23910000

**RE/MAX Superior - Fgura** 368,Zabbar Road, Fgura, Malta